[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

i

Ratio
N

1072 10 1 10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWT203

~ 0.5

e e S A A
%) o . . : : :
1 RIRRCN IETRRE RPN SRRES SRR SOPRE

oL e RO S S
03 o ff
5 || S A
02
O 4 AR AR A LA
U O O
0.05 | : |

Q

ettici

Ratio

15

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
Q. 0.18f
c o
7 0.16
£0.14F
& o
€ 0.12F
0.1
0.08F
0.06F
0.04F

0.02F

efticie

Ratio

Sim. PV z (cm)



	Contents
	Page 1


